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P &(t)= A(w, p)x(t) + Ba(t)u(t) + bu(t) (1)
M @&mt) = Auxem(t) + bur(t) (2)
W w(t) = Sw(t) (3)
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it; = B, + Dby, 0y = bl Pexi , (®: = &]) (7)
01, =Tim; (i=1,---,n) (8)
921 = fglazb’j&Peu N égz = ﬁgzb%w{PEU (9)
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AP+ PAy=-Q,P=P">0, Q>0 (10
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P: &= (piwiy + pewiz + p3)z + bizu + bau

b3 (11)
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M @y = —2xpm + 3r , 7= sin2t + 2sin0.5¢ (13)
W :wi =wi2 ,wi2 = —wi1 (14)
b1 =2.0,b2 = 3.0,2(0)=2.0, zm(0)=—1.0,p=0.80  (15)
01(0)=—1.0, 021 (0)=1.5, 022(0) = 1.5 (16)
N1 = a2 = 0.55, 1 = 1.0, 2 = 2.0, i3 = 1.0 (17)
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